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,yq;if fzf;fPl;Lj; njhopy;El;gtpayhsu; fofk; 

fy;tp kw;Wk; gapw;rpg; gpupT 

 

AA1 guPl;ir – [_iy 2019 

(AA12) tpahghuj;jpw;fhd fzpatpay; Kiwfs; ; 

gupe;Jiuf;fg;gl;l tpilfs; 

 

FWNehf;F tpdhf;fhd tpilfs; (OTQs)  

gjpide;J (15) fl;lha tpdhf;fs;  
(nkhj;jk; 40 Gs;spfs;)  

 

 

tpdh 01 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs;  

 
1.1 tpil (3) 

 

            8y + 6   = 3y + 21 

 5y  = 15 

 y  = 15/5 

               

1.2 tpil (2) 

 
            I = prt  P = 12 000, r = 12.0% =0.12, t = 3 

 

 I = 12 000 X 0.12 X 3 

 I = 4 320 
     

1.3   tpil (3) 

 

 TC  = 3,000x - 4x2 +10 000 

 MC  = 30000 – 8x 

      

1.4 tpil (4) 

            2x + y  = 14  

             3x + 2y = 24  

             tpil (fzpg;ghid gad;gLj;jpagpd;) 

 X= 4, y= 6 

    

 

 

 

gFjp A 
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1.5    tpil (1) 
          Σx = 30, Σy = 180 , n = 6 

  

 y  = a + 2x.   

 a   =  y – b x 

             a    = (180/6) – (2 × 30/6) 

          a   =  20 

       

1.6 tpil (2) 
 epiwadpf;fg;gl;l ruhrup 

rhu;Gfspd; Rl;nlz;       =  ∑ Xw 

                                                                ∑ w 

 

                                                                             =  (115×7 + 110 × 8 + 118 × 10 ) 

                                                                        7 + 8 + 10 

= 114.6 

 

                                                                  = 115 

              

1.7 tpil  (3) 

 T = 483x + 6,636 

    2017 y; X d; ngWkjp 7 

 

     T  = 483×7 + 6,636 

              = 10, 017 

       

1.8 tpil (3)
   A kw;Wk; B ahdit rkNeu;jfTs;s epfo;Tfs; 

 P(A∩B)  = P(A) + P(B) 

                        =  0.57 + 0.28  

                                  = 0.85         
 

1.9     tpil (2) 

      E(X)  = ∑ X×P 

                      = (- 6,000× 0.3)+ (8,000 × 0.35) + (11,000 × 0.15) + (15,000 × 0.20) 

  = 5,650 

  

     

1.10  tpil (1)
   $l;ly; tpUj;jp : 22, 27, 32, 37, …… 

  a  = 22,  d = 5 

  Tn  = a + (n – 1)d 

  T20  = 22 + (19 × 5) 

        = 117  
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1.11          mjp$ba Neu; epfu; ,w;iwg; ngWkjp (NPV) &.14,060 

       Mifapdhy; rpwe;j KjyPl;L nraw;jpl;lk;  “ D “ 

 

       mjp$ba cs;if tUtha; tPjk;  22%  

   cs;sf tUtha; tPjj;jpd; mbg;gilapy; rpwe;j nraw;jpl;lk;  “ A “  

 

1.12  Kiw 01 
     tUlhe;j gaDWjpkpf;f tPjk; = 1(1 + r)

n 
- 1    r =0.16/4 = 0.04, n = 4 

            = 1(1 + 0.04)
4 

  - 1  

       =  0.1699 

     =  16.98%  

    Kiw 02 

    A   = x(1 + r)n      r =0.16/4 = 0.04, n = 4  A= 100 

             = 100(1 + 0.04)4    

       =  116.99 

  tUlhe;j gaDWjpkpf;f tPjk;           =  116.99 - 100 

                                                    =  16.98%  

 

1.13 ,yhg rhh;G = tUkhd rhh;G – fpua rhh;G  

  TR  = 22x      

    TC  = 15x  + 12,600  

  TP  = TR – TC 

  TP  = 22x – (15x + 12,600)   

  TP  = 7x –12,600 

 

1.14 $w;W rupahdJ 
 
1.15 $w;W jtwhdJ  

(02 Gs;spfs; tPjk;> nkhj;jk; 40 Gs;spfs;) 

 

 gpupT A ,d; epiwT 
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ehd;F (04) fl;lha tpdhf;fs;.  

(nkhj;jk; 40 Gs;spfs;)  

 
tpdh 02 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs;  

 

(a) 

mj;jpahak; 02 – gFjp I – mstPl;L epjp – tl;b      
 

      A = P(1 + r)
n
 X = 500 000,  r = 9% =0.09, t = 3 

 

      S  = 500 000 ×(1.09)
3 

      S  = re. 647,514.50
 

 

      3 tJ tUl ,Wjpapy; mtUila fzf;F nkhj;j kPjp &. 647,514.50 

 
^03 Gs;spfs;& 

 

(b)  mj;jpahak; 02 – gFjp II – mstPl;L epjp – foptply;    

 

 (i) Kiw 01 

 

         A = 75 000,  n = 3,  r = 0. 08 

 

                S x R 
n 
x (R-1)            

A          =                                  
                                               R

n
-1 

 

 
           X(1 + 1.08)

 3
X 0.08  

75 000  =                                  

                    (1+0.08)
3

 -1
 

  

 

 x  =   75 000 X 1.08
3x0.08   

              (1+1.08)
3  

-1 

              

=  7,558.272 

                             0.259712 

  

x  =   re. 29,102.51  

 

 tUlhe;j jtizf;fl;lzk;  &. 29,102.51 

 

^03 Gs;spfs;& 

gFjp B 
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 (ii) Kiw 02 

 

tUlk; fld; nfhLg;gdT  Foptpl;l 

fhuzp (8%) 

kPs nrYj;jy; 

0 75,000 - - - 

1 - A - - 

2 - A 2.577 2.577A 

3 - A - - 

   

     

=>2.577A             = 75,000 

 

A                         = 75,000 

                                              2.577 

 

                                         =  re. 29,103.60 

^06 Gs;spfs;& 

(c) 

 

 (ii) fld; fopg;G ml;ltiz 

 

 
 
 
 
 
 
 
 
 
 

 
^04 Gs;spfs;& 

^ nkhj;jk; 10 Gs;spfs;& 

 

 

 

 

 

 

 

 

 

 

tUlk;   tUl 
Muk;gj;jpy; 
kPjpapUf;Fk; 
njhif 

nrYj;j 
Ntz;ba  
tl;b 

Jtizf; 
fl;lzk; 

,Wjp kPjp 

0 75,000 - - - 

1 75,000 6,000 29,103 51, 897 

2 51,897 4,151 29,103 26, 944 

3 26,946 2,156 29,103 - 
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tpdh 03 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs;  

 

(a) mj;jpahak; 03 – epjprhu; nraw;ghl;L mstPLfs;    

 

,yhg; rhh;T   = TR-TC 

                           = 20x + 3X
2
 -(4X

2 - 
500x +1500) 

                           = 20x + 3X
2 

 -4X
2 - 

500x +1500 

                           = 520X-X
2
-1,500 

 

Cr;rgl;r ,yhgk;   = dp  =  520-2x
 

                                 dx 

 

                       2x =  520 

                        X =  260 myFfs; 

 

Khw;W tpil 

 

MR = 20+6x 

MC = 8x-500 

MR = MC 

20+6x = 8x-500 

2X = 520 

X = 260 myFfs; 

 

^05 Gs;spfs;& 

(b) 

(i) TC =FC + VC 

TC = 2q
2
 + 5q+ 400 000  

^02 Gs;spfs;& 

 (ii) ,yhg el;lkw;w Gs;sp 

   TR   = TC 

  2q
2
 + 9q + 250 000  =  2q

2 
+5q+ 400 000 

 

                         4q  =400,000-250,000 
                   

       4q  =150,000 
                           q  = 37,500 

            

  ,yhg el;lkw;w fzpak;  = 37,500 myFfs;  
^03 Gs;spfs;& 

^nkhj;jk; 10 Gs;spfs;& 
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tpdh 04 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs;  

 
mj;jpahak; 04 – vz;fzpj uPjpahd tpguz mstPLfs; 

 

 

(a) (i) ,il   =   ∑ f(x)     =  6285      = 62.85  

                               ∑ f                100 

                                              ^03 Gs;spfs;& 
 

 

(ii) 

 

Mapil vy;iyfs;   =       ∑ fX
2
   -     X̅  

2 

                                  ∑ f           

   

                                      =       398,115        -    6285   
2 

                         100                  100 

 

                                   =     3,981.15 - 3,950.12 

 

            = 31.03 

                              

                                     = 5.5702  

^04 Gs;spfs;& 
 

 

 

 

 

 

MAl; 
fhyk; eLg; Gs;sp (x) 

kpd;fyq;fspd; 
vz;zpfif (f) F(x)  F(x)

2
 

50 - 54 52 2 104  5,408 

55 - 59 57 29 1,653  94,221 

60 - 64 62 37 2,294  142,228 

65 - 69 67 16 1,072  71,824 

70 - 74 72 14 1,008  72,576 

75 - 79 77 2 154  11,858 

  ∑ f= 100 ∑ fX    =6,285  ∑ fX
2
=398,115 
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 (b)   mj;jpahak; 07 – wpfo;jfTk; mjd; gpuNahfq;fSk; II 

X : Gjpjhf gpwe;j Foe;ijnahd;wpdJ ,il (kg) 

µ=3.43  σ =0.65 

           Z        =     X  -  µ 

                          σ           

 

     0.0714   

 

 

              0.5 – 0.0714 = 0.4286   

 

                                                                                               x     

                                              3.43 3.55   

  z 

    0         + 0.18 

 

               Z                          =     x - M        =0.18 

                                  σ         

          Z                          =     3.55  -  3.43 =0.18 

                                       0.65         

               P(Z>0.18)            =    0.0714 

             

                P(XZ>3.55)        =    0.5-0.0714 

 

               P (X > 3.55 )       =  0.4286 

            

^03 Gs;spfs;& 
^nkhj;jk; 10 Gs;spfs;& 
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tpdh 05 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs;  

 
mj;jpahak; 05 - ,U mstPl;L khwpfis xg;gply;  

 ∑ X =2,702,   ∑ Y = 3,864,   ∑ XY = 1,490,621,    

∑ X
2 

= 1,044,554,   ∑ Y
2 
= 2,134,110,   n = 7  

 

 (a)           b         =          n ∑ XY -  ∑ X . ∑ Y 

                                     n ∑ X
2
 -  (∑ X)

2
  

 

            b        =          7 X 1,490,621 – 2,702 X 3,864 

                                   (7X 1,044,554 )–(2,702)
 2

 

       

                            b        =         10,434,347-10,440,528 

                                  7,311,878-7,300,804 

                          

                              b      =          -6,181 

                    11,074 

                             b       =  - 0.55815 

 

                        Y    =  ∑ Y                                       Y    =  ∑x 

                                          N                                                          n 

         = 3,864                                             =   3,864 

                                           7                                                            7 

                                 =  552                                          =  386 

            

 a  = 𝐲̅ + bx 

                 = 552 - (-0.558) * 386 

                 = 552 + 215.388 

                = 767.388 

^07 Gs;spfs;& 
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(b) 

khw;wPL x = 350 
 

Y  = 767.388 – 0.558x 

Y  = 767.388 – 0.0558×350 

Y  = 767.388 – 195.3 

Y  = 572.088  

 

tpw;gid tUkhdk;   &. 572 

 
^03 Gs;spfs;& 

^nkhj;jk; 10 Gs;spfs;& 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 gpupT B ,d; epiwT 
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xU (01) fl;lha tpdh  
(nkhj;jk; 20 Gs;spfs;)  

 

tpdh 06 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs;   

 

 (A) mj;jpahak; 06 – gFjp I – Rl;nlz;fd; 
 

P1 P0 q0 p1 p1q0 p0q0 

155 120 45 155 6,975 5,400 

105 80 25 105 2,625 2,000 

100 75 60 100 6,000 4,500 

    ∑=15,600 ∑=11,900 

  

Laspeyre's tpiy Rl;nlz; ( 01LP )   = 100
)(

)(

00

01









qp

qp

 
  

       = 100
11900

15600
  

       =  131.09  

^04 Gs;spfs;& 

(B) mj;jpahak; 06 – gFjp II – fhyj; njhlu; 
 

( i )  a  = 260 + 280 + 290 + 300    =  1130/4 = 282.5  

                                      4 

 

  b  =  280 + 290 + 300+ 320    = 1190/4  = 297.5  

                                    4 

 

  c  = 270 + 282.5    = 276.25 

                                      2 

 

  d  = 282.5 + 297.5      = 290  

                2 

 

  e   =    260            =  0.99 

         263.125 

 

  f   =     280            = 1.01 

             276.25 

 

^06 Gs;spfs;& 

gFjp C 
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(C) mj;jpahak; 07 – epfo;jfTk; mjd; gpuNahfq;fSk; I 

     

 (a) 0.96          ey;yJ   

   A 

   0.16              0.04           FiwghLilaJ   

 

 0.97 ey;yJ     

0.5 B 

 0.03 FiwghLilaJ    

                                           0.34 0.93 ey;yJ   

 C 

 0.07 FiwghLilaJ   

^04 Gs;spfs;& 

 

 

 (b) (i)   

          (0.16*0.04)+(0.5*0.05)+(0.34*0.07) 

        = 0.0064+0.015+0.0238 

         = 0.0452 

^03 Gs;spfs;& 

 

(ii)     0.5*0.03 

        = 0.015 

^03 Gs;spfs;& 

^nkhj;jk; 20 Gs;spfs;& 

 

 

 

 

 
gpupT C ,d; epiwT 
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Notice:  

 

These answers complied and issued by the Education and Training Division of AAT Sri Lanka 

constitute part and parcel of study material for AAT students.  

These should be understood as Suggested Answers to question set at AAT Examinations and should 

not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The 

fundamental objective of this publication is to add completeness to its series of study texts, designs 

especially for the benefit of those students who are engaged in self-studies. These are intended to 

assist them with the exploration of the relevant subject matter and further enhance their understanding 

as well as stay relevant in the art of answering questions at examination level. 
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